
AME INTERNATIONAL - 1 -

Parts List For
55 Ton Aluminum Cylinder

13154

 PARTS BREAKDOWN

14

15

15

13

17

18

7

11

12

11

10

7

8

7

6

4

5

3

2

1

5

4

8

9

16

https://www.toolsid.com/ame-international/


 PARTS BREAKDOWN
Parts List For

55 Ton Aluminum Cylinder
13154

DESCRIPTION
 PART NUMBER

QTYITEM

Screw, Hex Head M8 x 1.25 x 2013154-00121

Piston Cap13154-00212

Piston Ring13154-00313

Screw, Hex Head M6 x 1 x 6013154-00424

Washer 6mm ID 10 OD 1T13154-00525

Piston13154-00616

Screw, Hex Head M6 x 1 x 2013154-007107

Spring Plate13154-00828

Spring, with Retaining Nut13154-00939

Wear Ring13154-010110

O-Ring Washer13154-011211

O-Ring13154-012112

Cylinder Ring13154-013113

Cylinder13154-014114

Screw, Hex Head M8 x 1.25 x 1213154-015215

Handle13154-016116

Valve Assembly13122117

Base Plate13154-017118

Discover other automotive tools on our website.

https://www.toolsid.com/automotive-tools.html

	Blank Page



